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A AEXIR
FE: APEX 245 KNI (FELXN LML /ML)
Cell TJPMT ISE ABY MADK 2E CER-ED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O SAXJAME 2SMS (N XIAAY)
2,000,000,000& * 25% 500,000
NS oI K& 372,424 500,614 A 128,190
Xl 100,000
Al 272,424
Agatet 28 & 307,104 447,104 A 140,000
Xl 100,000
Al 207,104
201 £B-2dH| 31,944 21,944 10,000
01 At 22/l 1,600 1,600 0
O Yer+g| 1,600
o HUAZDUX Kdl4 +HAUAN +42
400,000 = 2014 * 23] 1,600
02 22224l 30,344 20,344 10,000
O 3323 ¥ HA 10,344
o SY=s3HA dMIIZ 10,344
- dES 6,000& » 128 72
- Jt2S 8,000& = 328 » 12& 3,072
- MHE 2F  120,000& x 5 A+ 12 7,200
O AM&&EHIs Xl 20,000
o XL ZZAEES X2
20,000,000& =« 14 20,000
202 Oddl 4,260 4,260 0
01 = LH YI 4,260 4,260 0
O Xgaret AKX 319 A (MEZ - 5Y)
85,000& * 298 = 3 « 63l 3,060
O Xghateh MEfEA R F2
20,0003 = 298 = 5 « 63 1,200
206 M= Hl 900 900 0
01 W2l 900 900 0
O SgsTUX 4H ASAE DY
4,500% * 50Kg * 2% = 23| 900
401 Al HI L = Tl 270,000 270,000 0
Xl 100,000
Al 170,000
1 Al £l 267,930 267,930 0
O QELLHI “FH>22 FH (41)
70,000,000 * 99.10/100 69,370
O SL=s3CR J|etAlE HUIALY
200,000,000 = 99.28/100 198,560
Xl 100,000
Al 98,560
03 Al 20 HI 2,070 2,070 0




SN AEXIR D
M MASHX S5 N (2ELX NS /AT
Sol: XNHAHR X EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
O QHEAMASUX LSH=222 HH|(4XH)
70,000,000 = 0.90/100 630
O SAd=2CHA JIBHAIA A
200,000,000& * 0.72/100 1,440
=4 SSEEE2G 29 53,000 53,510 A510
202 o4 | 3,000 3,510 A510
01 2Ll 3,000 3,510 A 510
O 2WAKE 3o EHA(aH, RNAZH)
20,0003 * 2% * 2 « 128 960
O Gi42JHE 92 8o U AY 29 S
85,000& x 28 * 22 x 63 2,040
307 212t0| & 50,000 50,000 0
02 QIZHEAAIE E X 50,000 50,000 0
O Oladt TSLAEAY =X
100,000,000& * 50% 50,000
AAEXNHA 10,440 0 10,440
201 et d| 2,600 0 2,600
01 AR 22l ] 2,600 0 2,600
O gbtx==H| 2,000
o B&H o -5 § ADES HH
500 * 30008 *~ 10= 1,500
o BHFAA BHF WA UE =HFL
25,000 * 10 = 23| 500
O 1=t 600
o B, ABZ0F 2 -5 Y2 R
150,000& = 4H 600
202 044 7,840 0 7,840
01 2L H| 7,840 0 7,840
O &84, 2% 2 -3J 92 XMl g s8&
2ol 20,000 = 3% * 9Y « 128 6,480
O 8B8IHdE s XNE Agns &4
85,000 * 2% x 22 « 43| 1,360
AMNSIZ2S ALY 2 Hd35 1,880 0 1,880
202 04| 1,880 0 1,880
01 2L Hl 1,880 0 1,880
O A3 ZEAIY X & 22
85,000& x 2% = 2Y x 23] 680
O A3 Z8AIY 2289 & N
20,000 « 2% * 32 « 10& 1,200
NAAH SHS (MY - SAI|H/AH - SAD|HAUBL) 1,225,460 993,850 231,610
= 150,000
Al 1,075,460
A0 4K 1,225,460 993,850 231,610
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
< 150,000
Al 1,075,460
JgaAME2s 33 51,600 51,600 0
201 LB-2d| 1,600 1,600 0
01 At 2t 2l 1,600 1,600 0
O e8| 1,600
o A2 JIHe AlY A4 A
200,000 = 4Y « 23] 1,600
307 glz2t0ol & 50,000 50,000 0
02 HAFHAANFEE 50,000 50,000 0
O JIgAE2s F&AE  50,000,0008 * 14 50,000
Sa0lg 2 2430 84 1,173,860 942,250 231,610
< 150,000
Al 1,023,860
202 odl 5,860 4,250 1,610
01 = LH YI 5,860 4,250 1,610
sS40 N2 22 =8 L 39 &N
85,000& = 29 = 2& « 33| 1,020
O RLYSAI|Y AEHEAN 22 =8 & 39
&4 85,000& = 298 = 2& « 33| 1,020
O BAJIY NBEF S5 &4
85,000 * 2% * 2& * 23] 680
O ZHSEZR MOIU & HdRUSs T4
85,000 » 2 * 2& * 23] 680
O SA0|1g 2Ea £ 2432 U3 N Y
f =4 20,000 = 2 * 3 * 123 1,440
O AstoI® BAY YRFEX U 319 A
85,000& = 2& = 2& « 33| 1,020
307 21201 A 550,000 320,000 230,000
< 150,000
Al 400,000
02 B AAFEX 250,000 120,000 130,000
O dEd 2401 LMY (249R)
80,000,000 = 3oH71 240,000
< 150,000
Al 90,000
O 20169 XIGXA HAEE XJAS(SIHE
X EAL) 20,000,000& * 50% 10,000
08 OIXtE2H = 300,000 200,000 100,000
O 24a30 X O0lX XM EXZ
300,000,000 = 14 300,000
308 XtXIEHH SOl A 618,000 618,000 0
07 IXHHM AL = 618,000 618,000 0
O O=Al 2EDIY SHAMY(5ER)
150,000,000& * 13 150,000
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SN AHEX
o

|
HaM: LAIGHAE 2 22 N (AMEEX/eS)
G AN Ot EXZAA 2F (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
04 SIZ2ISHAAIH E & 50,000 50,000 0
O ZAIQIEE S SHSAIE &AL
50,000,000 = 13| 50,000
= 40,000
Al 10,000
22X |SASE 93,400 93,400 0
CLESHEANHA 29 52,400 52,400 0
201 et | 2,400 2,400 0
01 A2t 2| H| 2,400 2,400 0
O dutxx=2H| 2,400
o GlaA D2 BTALDA 29
200,000¥ = 1™ « 12€ 2,400
307 2iztol A 50,000 50,000 0
03 QIZIHEHESIEHIEX 50,000 50,000 0
O LEMNSA 29 AY X
25,000,000 * 202 50,000
222 & SAL 8,000 8,000 0
307 2iz2to| A 8,000 8,000 0
04 SIZ2ISHAAIH E & 8,000 8,000 0]
O 22X Y A
4,000,000 * 2OHSHH « 13| 8,000
22X S 0tS A} 33,000 33,000 0
307 2Iz2t0| & 33,000 33,000 0
04 SIZ2ISHAAISH E X 33,000 33,000 0
O 22X &0IS HSHAI AIEEX
33,000,000& = 13 33,000
SHAE 2 AH| (AR KD (D EH/DIE) 74,690 67,941 6,749
olad 2 A Y| 6,395 6,070 325
oled A H| 6,395 6,070 325
101 21 214| 6,395 6,070 325
03 I HAsZ22 NHE 6,395 6,070 325
O A2 2 2 6,395
o IPEZR(ANREX)
9,470& * 29 * 12A12F x 128 * 150% 4,092
o K[>EAZ(ANEESBOHYHH)
10,6602 * 1€ = 12A12F = 128 * 150% 2,303
Jl2d | 68,295 61,871 6,424
Jl2 &4l 68,295 61,871 6,424
201 et 9| 45,661 43,500 2,161
01 AP 2t 2] d| 45 661 43,500 2,161
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4,099
4,099

164

A 1,036

1,200

H3r
Wikd
RIS

8,431
8,431

9,940
3,300

3,640

3,000

300,000

300,000
300,000
300,000
300,000

01l &t o4

26,281
19,380

12,530
12,530
12,530

10,104
3,300
3,300
2,604

2,604
4,200
4,200

300,000

300,000
300,000
300,000
300,000

X)) (JIEH/ IIEH)

Al
Ay

1

2 *

o

Al
A

1

=Y
[l

2l *

e

19,380,000
12,530,000

01 =LHOI LI

202 Oddl

KJ
KE
ok
oD

144

2 *

3,300,000

aJ
&1

R0
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128

A *
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2 x 93H) * 70%
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LH S 21 2H X
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Al
A

1

=Y
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e

300,000,000




